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1.  
a.  In what way is accounting net income inconsistent with the fundamental principles of finance?

b.  Give an example of such an inconsistency (discussion is fine but if you want to use numbers that is fine as well).

c.  In what fundamental way does EVA “correct” the inconsistency between accounting net income and the principles of finance?

d.  Briefly discuss how EVA addresses the inconsistency in your example in part “b”.

 2.  Which ratios would you examine and what would you look for to determine whether a firm has excessive debt in its capital structure?

3.  Great Depression II Inc. is considering building a new warehouse in Idaho to distribute surplus Y2K survival equipment.  The warehouse would cost $350,000 to build (including all equipment, land, etc) and would have a 20 year life.  Net, after-tax cash flows are expected to equal $35,000 two and a half years from today.  After this initial inflow, net after-tax inflows are expected to grow by 4% per year through 19 and  a half years from today.  Great Depression II’s existing assets have a beta of 0.4 and the average beta of other survival equipment distributors is 0.2.  Great Depression expects the beta of the new warehouse to be even lower at –0.1.  The standard deviation of returns on the returns on the warehouse is expected to be 45% which is higher than the 39% standard deviation of returns on Great Depression II’s existing assets.  The return on T-bills is 6.2% and the market risk premium is 8.1%.  Should Great Depression II build the warehouse?

4.  Election Purgatory Inc. has assets with a current market value of $400,000.  The standard deviation of returns on these assets is 38% and the beta of these assets is 1.2.  Election is considering using $100,000 of surplus cash to repurchase some of its shares.  Note that the firm has outstanding debt which matures five years from today for $250,000.  The APR (assuming continuous compounding) on Treasury strips are as follows:  1-month:  6.2%; 1-year:  6.1%; 5-years: 5.5%; 20-years:  5.9%; 30-years:  5.4%.  What will be the value of Election’s stock if it undertakes the investment?

a.  What will be the standard deviation of returns on Election’s remaining assets after the firm pays out $100,000 of riskless cash to repurchase shares?

b.  What will be the value of Election’s stock after the repurchase?

5.  Assume your portfolio currently consists only of T-bills, shares in Bore Inc., and shares in Gush Inc.  Gush and Bore have just announced that they intend to merge and the new firm will be called BoreGush Inc.  Assume that after the merger, you continue to invest only in T-bills and in the newly formed firm.  Discuss and show graphically whether you are likely to be better off, worse off, or neither better off nor worse off due to the merger of these two firms.

6.  Assume that Perplixar Inc. has 7 stockholders as follows:  Jack owns 800,000 shares; Carol owns 650,000 shares; Greg owns 500,000 shares; Bill owns 350,000 shares; Kimberly owns 300,000 shares; Sarah owns 250,000 shares; and Chris owns 150,000 shares.  Perplixar’s shares have a current market value of $15 per share, however, Perplixar intends to repurchase 300,000 shares at $24 per share in order to get surplus cash out to the shareholders.  

a.  Assume Perplixar repurchases the shares via a tender offer.  If each shareholder acts in their own best interest, how will the wealth of Jack changes as a result of the repurchase?

b.  Assume that Perplixar repurchases the shares via transferable put rights by issuing one put right for every outstanding share.  Assume that Jack sells 500,000 of his puts and exercises the rest.  Show that the wealth of Jack is unchanged as a result of the repurchase.  

7.  Steadfast Inc.’s stock price has just fallen as the result of an announcement by Steadfast that it is suspending its regular quarterly dividend.  Based on our discussion in class, explain this reaction to the announcement.

8.  Anarchy Inc. has just announced that it intends to issue additional debt and use the proceeds to repurchase stock.  At the announcement, Anarchy’s stock price fell.  Given our discussion in class, explain this reaction.
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Solutions:

1.  
a.  Net income is not based on cash flow and it ignores the time value of money.

=> revenues recognized when earnings process is virtually complete rather than when collected

=> expenses matched to revenues rather than when paid

b.  Example (one of):  depreciation, sales on credit, purchase on credit, etc.

c.  EVA charges interest on net spending that accountants have not yet recognized as an expense

=> interest is a capital charge = WACC * capital where capital equals the net pool of costs that accountants have shifted

d.  Ex.  Interest charged on undepreciated (unrecognized) cost of building, etc.

2.  
1)  Debt ratio

evidence if excessive debt if:

1) above industry average or leader

2)  rising over time (compared to self)

2)  Interest coverage ratio

evidence if excessive debt if:

1) below industry average or leader

2)  falling over time (compared to self)

3)  less than 1.0

Note:  low and falling current and quick ratios provide possible evidence of excessive short-term debt

3.  r = 6.2 + (-.1)(8.1) = 5.39
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NPV = 494,720.95 - 350,000 = 144,720.95

=> accept since NPV > 0

4.  
a.  
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  => A = 50.67

b.  
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5.  Graph:  feasible set should curve to the left with Bore and Gush as anchors.  Line 1 should go through the risk-free rate and be tangent to the curve.  The merged firm should be somewhere on the feasible set (since the merged firm could have been formed by the investor by basing the weights on the market value of each firm).  Line 2 (post merger) should be through the risk-free rate and go through the merged firm.

Discussion:  Line 1 is achieved by creating an optimal risky portfolio of Bore and Gush then borrowing or lending.  Line 2 shows the risk/return possibilities after the merger.  Unless the market combines in the exact proportions held in your portfolio, you are worse off if the firm merges since you will earn a lower return for any given level of risk.  
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6.  
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a.  Jack's wealth before = 12,000,000 = 800,000(15)
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Number of shares Jack can sell = 47,368 = .15789(300,000)

Jack's wealth after tender offer = 11,673,680 = 47,368(24) + (800,000-47,368)(14)

Jack's change in wealth = 326,320 = 11,673,680 - 12,000,000

b.  # of puts required per share = 
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Put value = 
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Number of shares Jack can sell = 
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Jack's wealth after TPR = 12,000,000 = 30,000(24) + 770,000(14) + 500,000(1) => no change

7.  The dividend cut reveals management's pessimism about future earnings.

=> stock price falls as the market revises expectations downwards

=> Also, stockholders gain at the expense of bondholders when a dividend is paid.  This no longer happens if the firm suspends the dividend

=> And, stockholders may fear that management will waste the cash or that management will come under less scrutiny as the chance that the firm will need to issue securities in the future declines.

8.  The market must believe that once the debt is issued, Anarchy would have more debt than is optimal

=> the market must believe that the cost of the additional debt must exceed the benefit of that debt

The market may believe that:

1)  Anarchy has a low probability of using the corporate tax shield from debt

=> Anarchy may have low, volatile profits

2)  The debt will not help further resolve stockholder-manager conflict

=> no discretionary cash for manager's to waste

=> mgt. already owns significant amount of stock

=> mgt's feet already to fire due to existing debt service

3) Anarchy has high distress costs associated with increasing debt:

=> bankruptcy costs like legal fees, court costs, reorganization costs, administrative costs

=> indirect costs due to impaired ability to run the firm

=> loss of key employees, lost sales, higher credit costs, loss of supplier credit

=> diversion of management as attempt to keep firm solvent

=> costs imposed by bondholders due to stockholder/bondholder conflict
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